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QUESTION 1

Where can business process users start manual unstructured (Adhoc) activities that are not hidden? 

A. Work details page in Process Portal 

B. Launch details page in Process Portal 

C. Process Instance details page in Process Portal 

D. Process Performance details page in Process Portal 

Correct Answer: C 

 

QUESTION 2

Which statement is true regarding IBM BPM capabilities to support structured and dynamic processes? 

A. It only supports dynamic processes using ad-hoc activities. Structured process models are not supported. 

B. It only supports structured process models with a defined sequence of activities following the BPMN 

2.0 notation. 

C. Process applications must include one structured process model, but additional ad-hoc activities can be added if
desired. 

D. It supports structured process models using the BPMN 2.0 notation as well as unstructured processes using ad-hoc
activities. 

Correct Answer: B 

 

QUESTION 3

A developer receives the following requirement request when configuring documents and folders for an IBM BPM
process: 

1.

 Create the ECM folder structure automatically from IBM BPM 

2.

 Change the Root Process Folder to be managed by the ECM System 

3.

 Create a folder structure that has some BPM managed documents and folder along with some ECM managed
documents and folders 

What is an appropriate response to this request? 
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A. All requirements are feasible. 

B. Only requirement 3 is feasible. 

C. Only requirement 1 is feasible. 

D. Requirements 1 and 3 are feasible, but 2 is not. 

Correct Answer: B 

 

QUESTION 4

Which statement is true regarding IBM BPM\\'s support of Swagger definitions for the REST APIs? 

A. There is no Swagger definition available for the REST API. 

B. The Swagger definition is only available for IBM BPM on Cloud installations. 

C. The Swagger definition is only available if the IBM BPM installation includes a web server that hosts the Swagger UL 

D. The Swagger definition is available via a REST API call or via a URL if the IBM BPM installation includes a web
server that hosts the Swagger UL 

Correct Answer: A 

 

QUESTION 5

The first component of the Vehicle Details coach is a Text field with the label Search Vehicle in a coach view, which is
configured to fire a boundary event. Which one of the events does the BPM application developer need to use so that
the Vehicle List table filters to matching vehicle selected from Search Vehicle field? 
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A. Onload 

B. Onclick 

C. On input 

D. Change the event handler and specify this.context.refreshView(); 

Correct Answer: D 

 

QUESTION 6

A developer is working on a client side human service that is being used as a task for a process. A Service 

Flow is integrated to update the client side human service variables with latest server values in the process 

instance variables. 

What implementation should the developer follow to achieve this outcome? 

A. In the implementation behavior of service flow, enable \\'Map input data automatically\\'. 

B. Add javascript code to update client side human service variables in pre and post execution scripts of integrated
service flow. 

C. In the implementation behavior of service flow, set Work with the process instance variables to \\'Refresh the
instance variables\\'. 

D. In the implementation behavior of service flow, set Work with the process instance variables to \\'Send variable
updates to the instance\\'. 

Correct Answer: D 

 

QUESTION 7

Which logging command is used to print log statements to the system out logs? 

A. log.wam(\\'\\'info") 

B. log.alert("info") 

C. log.trace("info") 

D. log.statement(\\'\\'infon) 

Correct Answer: D 

 

QUESTION 8

A developer believes there is an issue with a UCA being invoked. What are two places the developer can look for more
information? 
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A. SystemOut.log 

B. Process Admin \\'Event Manager\\' page a 

C. Process Admin \\'Installed Apps\\' page 

D. Process Designer \\'Process Details\\' page 

E. Process Portal \\'Process Instance Details\\' page 

Correct Answer: AD 

 

QUESTION 9

In the image below, what is the result of clicking the selected button (red circle)? 

A. Terminates 

B. Restarts processes 

C. Sets user authentication 

D. Opens Instance Details U 

Correct Answer: A 

 

QUESTION 10

Which statement is true about working with system data toolkits? 

A. The system data toolkit includes many predefined variable types. 

B. Administrative access is required to edit the library items in a system data toolkit. 

C. When a new process application is created, the system data toolkit needs to be added as a dependency. 

D. Adding a dependency on the system data toolkit allows the creation of custom, localized dashboards with the
reusable interface elements. 
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Correct Answer: C 
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